SAP ABAP table ICSITEMSYV {Salvage Item Evaluation}

ICLCLAIM

CLIENT [CLNT (3)]
ICSITEMSV-CLAIM = ICLCLAIM-CLAIM __--0-N [ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

ICLSALV
CLIENT [CLNT (3)]
ACTIVE [CHAR (1)]
~0..N | CLAIM [CHAR (17)]
SALVAGE [NUMC (3)]

ICLSALVI

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

0N | CLAIM [CHAR (17)]

____________________ SALVAGE [NUMC (3)]
0.N SALVAGEITEM [NUMC (3)]

TOO0O
MANDT [CLNT (3)]

TCURC
7 0.N |MANDT [CINT 3)]
WAERS [CUKY (5)]

USRO2
_____________ MANDT [CLNT (3)]
BNAME [CHAR (12)]




